
47

49

3524

6

585

22

15

11

9

13

40

12

38

4

23

82

60

88

89

66

9-7300: Crank, Flywheel & Brake Detail

# SKU Qty Description

4 000-0099 4 SCREW, PHP, M5x0.8x25, SS
5 000-0102 2 CHAIN TENSION BLOCK
6 000-0107 2 NUT, M6x1.0, SFL, SS
9 000-0171 1 BELT, TIMING, GATES, 1440 8M
11 001-0535 1 THREADED BRAKE ADJUSTMENT NUT
12 001-0540 2 LINK, BRAKE ADJUSTMENT SIDE
13 001-0541 4 BRONZE BUSHING, BRAKE ADJUSTMENT LINK
15 001-0750 1 ASSEMBLY, BRAKE CARRIAGE
22 003-1508 1 ISIS BB, 68 X 113mm
23 003-2357 2 3/8 - 26 TPI HEX FLANGE NUT, SERRATED ZINC PLATED
24 003-8569 1 TORSION SPRING, BRAKE
35 110-3672 1 NUT, M8 X 1.25, CS, NYLOC, BLK E-COAT, GR-10
38 110-4260 1 SCREW, SHOULDER, M8x1.25, Ø10mm, 35mm, SHC, HK, AS, NKL
40 120-3418 1 WASHER, M10, FLAT, 10.5x20x2, CS, BCE
47 718-5754 1 ASSY, CRANK, L, ISIS, MT2, 4iiii SENSOR
49 718-5840-XX 1 ASSY, FLYWHEEL, GENERATOR, ACPP
58 740-7296 2 BOLT, M6X1.0, 65MM, HEX CAP, SS
60 740-8145 2 SCREW, M8x1.25, 14mm, BB AXLE
66 740-9020 1 ASSY, SET, PEDALS, S5/S7
82 740-9205 1 BRAKE ADJMENT HOUSING ASSY
88 740-9283 1 ASSY, CRANK W/PULLEY, POM, AC, MT, 4iiii
89 80044 2 CRANK BOLT 8MM HEX FOR ISIS

https://www.gympart.com/itemdesc.aspx?ic=STS1098&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1370&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SAC147&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SAC148&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SAC109&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1024&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1220&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SAC131&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1737&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE84990&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SAC125&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SAC102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11843&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11712&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST12322&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX1056&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1200&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11925&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10799&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SPE80044&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

